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B IR i % BT
AH19R | OK) | 13:30 |Mifkpr #kat=s2 - 3
4H26H | OK) | 13:30 |difkiT akaEeE2 - 3
SH1TH| (K) | 13:30 M 2ik=4 5
5H24R | (OK) | 13:30 |mifkpT #k&EE2 - 3
6H21H| (K) | 13:30 |Mifkpr #k&t=2 -3
6H28H | (k) | 13:30 |mifkpr #kaE=E2 - 3
TH19H | OK) | 13:30 [Mifkpr #k&f=2 -3
TH26H| (K) | 13:30 |[H&%AT #aE=2 3
S8H16H| (k) | 13:30 |[Mifkpr #k&f=2-3
8H23H| (k) | 13:30 |Mfir #EE=2 -3
9H20H | (k) | 13:30 |Mifkpr #k&h=2-3
9H27H| (K) | 13:30 |HfRr #EE=2 -3
10H18H | (k) | 13:30 |Mifpr #GE=2 -« 3
10H25H | (k) | 13:30 |MifRpr #GE=2 -3
LLH15H | (k) | 13:30 |MifAr #kGE=2 -« 3
11H22H | (k) | 13:30 |MfRpr #EE=2 -3
12H13H | (k) | 13:30 |Mifpr #kGE=2 -« 3
12H20H | (k) | 13:30 |MifRir #GE=2 -3
LHITH| OK) | 13:30 |HifkAr ikah=2 -3
1H248| OK) | 13:30 |HifkpT #a6=2 -3
2H148| (k) | 13:30 |Mifpr #GE=2 3
2H218| (k) | 13:30 |Hif%Fr akif=s2 - 3
3HI3H| (K) | 13:30 [Miffr ikat=2 3
3HI19H| (k) | 13:30 |HifkFr #kif=s2 - 3
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